ANSHERS > EXERCTSE 615
10) rTC;\ WCH”]C' x° -

X= Ho*




b)

{T\)( Find X
X= B0-90-55
X= 35"



X= 35"
5: \%0"10“%.
4= 1%°



To qud xX° &

“+iC= 180"
63+3"('-\'63+3= Ro®




> A

7o find AQ S

C4o’=c’
(BY-& b‘ = Cao)a
G+ = HOD
W= 996

|b=|6c§



A ‘= o0°

Y= 15




7o find OP

od+o’=c*
s = 3
g +x° = 164
x3= o)
X=3










c*=a+b”
ct=(5)%(35)°
C*= 25+ M12.25.
c%*=917.25

£ = 9725

c= 98cm.
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a) x

11e¢m

CZ.;. O':L_'_bn
(12)*=(3)*+b*
9= 9 +h%
IMM=-9 = b2

i35=h2
JI35 =b

Il.6 cm=b
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C:L: Cli'--l-b?“

(U§.3)* = (M3 + h*
3N2.25 = 20.25 4+ b ¥
3M2.25-20.25=b*

322 =%

1194 em= b
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b) <SRM= 88°
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MATH 111

a) < ZY X = 50°
b) <YXZ=60°
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